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Dividere numeri interi con zero Nome:
Risolvi ogni problema. Risposte
1) 2) 3)
50453 21261 6652 1
2
3
4,
5.
4) 5) 6)
545 4 71284 3632 6.
7.
8.
0.
10.
7) 8) 9
91546 8483 71351 11.
12.
10) 11) 12)
8487 41761 2603
. 1-10 | 9283 75|67 [58[50] 4233|2517 |
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Dividere numeri interi con zero Nome: Soluzioni
Risolvi ogni problema. Risposte
1) 090 2) 130 3) 108 9013
50453 21261 6652 1 r
0 2 6
45 06 05 2. 130r1
45 6 0
03 01 52 3 108 r4
0 0 48
3 1 4 . 90r4
5. 40r4
4) 090 5) 040 6) 210 21012
5/454 71284 3/632 6. r
0 0 6
45 28 03 7 60r6
45 28 3
0 4 0 4 02 o 6013
0 0 0
4 4 2 o 50r1
10. 60r7
7) 060 8) 060 9 050 19011
9546 8(483 71351 11.
0 0 0
54 48 35 1 301rl
5 4 48 35
06 03 01
0 0 0
6 3 1
10) 060 11) 190 12) 301
8487 4|76 1 21603
0 4 6
48 36 00
48 36 0
07 01 03
0 0 2
7 1 1
- 1-10 | 9283 75|67 [58[50] 4233|2517 |
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C:# Dividere numeri interi con zero Nome:

Risolvi ogni problema. Risposte
60 r3 108 r4 210 r2
130 r1 40 r4 60 r6 1
50rl 90 r4 90 r3
2
1) 2) 3)
5(453 21261 6(652 3
4,
5.
6.
7.
8.
4) 5) 6)
5(454 7284 3632 0.
7) 8) 9)
9546 8483 7351

- Semplificato 1-9 |89|78[67]56|44[33[22]11] 0 |
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